Ethnicraft v

MAHOGANY POLISHED IMPERFECT COFFEE TABLE
ASSEMBLY INSTRUCTIONS FOR COFFEE TABLE INSTALLATION

HARDWARE ENCLOSED TOOL
O
JCBC SCREW WASHER SPRING WASHER
M6x40 M4 M4 ) L I.(EY
(4pcs) (4pcs) (4pcs) (included in package)

IN YOUR PACKAGE :

ASSEMBLY INSTRUCTION
HARDWARES (AS LISTED ABOVE)

PARTS TO BE INSTALLED
1. TABLETOP 1 pc
2.LEGS 2 pc

0 LEGS ARE INTERCHANGEABLE

NOTICE

v/ &
SYMBOLS @
(L& TralT
X2

DIRECTION NUMBER OF USE HAND USE LKEY
PERSONS NEEDED TO TIGHTEN




Ethnicraft

MAHOGANY POLISHED IMPERFECT COFFEE TABLE
ASSEMBLY INSTRUCTIONS FOR COFFEE TABLE INSTALLATION

2/2

n INSTALLING LEGS TO TABLE TOP

- USE WASHER M4 (4x)

- USE SPRING WASHER M4 (4x)
- USE JCBC SCREW M6x40 (4x)

- TIGHTEN FULLY

B finisH




	Page 1
	Page 2

